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[ R 2 15 1: Archeologists use different ways to decide the places where they should dig for ancient artifacts.

1. Surface feature of the land. E.g. New Zealand. It has a typical structure. High land? (New Zealand have
Giant step to the hill.)

2. Plant: certain plants grow in certain places. E.g. Banana nuts tree were planted in Central America. These

trees continue reproduction. So archeologists find the place which has banana nuts tree to dig.
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The reading material casts doubts on the view that bees existed 200 millions years ago. However,the listening

material disputes the ideas presented in the reading with several arguments.

According to the passage, bees could not have been in existence 200 millions years ago because there are not
any fossils of bees from that time. In contrast, the lecture argues that fossils could not form at the time because

there were no trees which preserve fossils.

What is more, the author maintains that there were neither flowers nor food for bees 200 millions years ago.
Nevertheless, the professor holds that bees do not have to feed on flowers because they can feed on pine trees or

other things.

Finally, the reading emphasizes that those fossils may not be of bees. On the contrary, the listening asserts

that those fossils are of bees because the chemical substance of the fossils has already been tested.
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Do you agree or disagree with the following statement? In the past young people depended on their parents

for making decisions. Today, young people are better able to make decisions on their own.

Obviously, young people nowadays have more freedom to make their own decisions than in the past and

therefore, I agree with the statement above.

On the one hand, it is a social custom for parents in the past to help their children make decisions and children
seldom were able to do what they like. When children were small, males will be made to attend schools and learn
to acquire skill, while females were made to stay at home and learn to make embroideries. In China, girls have to
have their feet bound when they were five or six years old so that they would be able to marry a good man in the

future.

Little children would suffer from great pain when their feet were bound. But they have to listen to their

parents. Whenchildren grew up, their parents would help them choose their life-long partners. Young people

were not free to choose their spouse in old times.

On the other hand, however, young people now have much more freedom to choose what they like.

Take myself for instance. When I was in high school, I had to choose to learn science or liberalarts. My
parents did not interfere with my decision because they knew I would make the right choice which is best for me.

When in college, I fell in love with a girl and I told this news to my parents. They just asked a few questions about



the girl and said that I should be serious with the relationship. I have the freedom to choose my girlfriend and

future wife. The same case goes for many other young people.

From the above discussion, we can easily see that nowadays, people do have more freedom to make decisions

than in the past. Therefore, I am in agreement with the statement above.



